Name: Score:

Gdentifying Solutions - MCQ) Multi-step: S1

Choose the correct solution that best describes each inequality.
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1) 2(15+6x) <-66 or 5(3x + 16) < -25 2) 82%>3
a) x<-8 b) x<-8 or x>7 a) x>1 b) 1<x<5
c) x<-7 d) x<-8 or x>-7 ¢ 1<x<5 d) x<5
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3) —16s?+x and PREVIEW s(12x—21)<9

a) x<4 Gain complete access to the largest b) x<4 or x> 10
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) —-4<x<10 d) x>10
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a) x<-30 b) x<-24 or x>-6
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c) —-30<x<8 d) x<-6
N
7) 6(11x—13) < 54 or 2"5—+7>3 8) 4(7x - 26) <64 and 5(19 + 2x) > —65
a) x<?2 b) x<2orx>4 a) x>-16 b) x<6
c) x<2orx>4 d x>4 ¢ -16<x<6 d -16<x<6
N J

Printable Math Worksheets @ www.mathworksheets4kids.com



